DocuSign Envelope ID: 1F20A70B-F53E-4DE0-8562-9B488537EA32

PLANS PREPARED BY :

J\NU-2

: 8: PROJECT REFERENCE NO. SHEET NO.
| 5 C l IR l J E D A T A PARSONS U-2524D 2B-2
: B RALEIGH, NORTH CAROLINA, (919) 854-1345 RW SHEET NO.

[ NC LICENSE NO. F-0246

: . —RPAY4— —SPAY4- FOR NORTH CAROLINA DEPT. OF TRANSPORTATION ROAE:I\/(;L EI?EERSIGN
1 Pls Sta 4/5+2560 Pi Sta 421+58.62 Pls Sta 427+80.87 Pls Sta 147148 Pl = 3+5/.09 Pls Sta 5+30.3 Pi Sta 1+83.75

i 6s = 530 0l4" A= 2r26'068'(RT) 65 = 530 014" Os = 4 46' 2873 A = [0°45 300" (LT) Os = 446' 2873 A= 2550 28/ (LT) \“w CARg, ",
| Ls = 480.00° D = 217" 306" Ls = 480.00" Ls = 200.00° D = 446 287" Ls = 20000’ D = [7"54 178" SREES 223
| = 3205 L = 93529 = 3205 LT = /33.38 L = 22532 LT = 133.38 L = 144.32 SEAL % %
1 sr = 1604 T = 473)8 ST = 1604 ST = 667/ T = 11299 ST = 667/ T = 7341 GosodBT4 13
| R = 2.500.00 R = 120000 R = 32000 V. Gpin s @ o F
| e = 006 e = 006 e = 004 '}zévgm-;g@ S
1 D.S.= 70 Mph D.S.= 5500 Mph DS.= 25 Mph R

| Runoff = 480.00 Runoff = 200.00" Runoff = 68.00°

} DOCUMENT NOT CONSIDERED FINAL
‘ -/ - —RPAY4 - UNLESS ALL SIGNATURES COMPLETED
| Pls Sta 446+94.21 PI Sta 453+44.0 Pls Sta 459+84.47 Pls Sta 15+65.35 Pl = [9+01.74 Pls Sta 21+06.71

| 95 = 400 ;8.5 A= 19 /7', 410" (LT) 95 = 400 :38.5 ©s = [2°3I"15.35" AN = 94544/ (LT) ©s = [12°3/"15.35"

‘ = 42000 D = 54 355 = 42000° Ls = 12500 D = 20° 02 00.56" Ls = 12500

| = 28007 L = 1010.27° = 28007 /T = 8354 | = 45804 IT = 83.54

S & o T = 509.96' st 2 Taoor ST = 486 T = 29493 ST = 4186

1 R = 300000 R = 28600

1 ¢ = 007 e = 004

| .~ 1000 Mpn DS.= 3000 Mph

| Runo 42000 Runoff = 125.00°

~LREV- ~RPDY4- ~RPDY4- ~SPDY4- ~RPCY8-

1 Pls Sta 492+33.76 Pl Sta 496+37.33 Pls Sta 500+39.97 Pl Sta 2+06.25 Pls Sta 4+83.23 Pl Sta 3+01.03 Pls Sta 1+33.35 Pl Sta 3+02.3 Pls Sta 4+70.80

; es = 302 396" A= 8 31388 (RT) es = 302 396" A= 20°20° 088" (LT) Os = 5 36 408" A= 10452 548" (LT) 6s = 2°30° 000" A= 506 ILI"(RT) es = 230 000"

| = 390.00 D = 33 403" = 390.00° D = 458 56." Ls = 22500 D = 27 56" 57.0" Ls = 200.00’ D = 2°30°00.0" = 200.00"

l = 26004 L = 546.2/ = 26004 L = 4087 = [/50.08 L = 37526 = /33.35 L = 20412 = /33.35°

i ST = /30.03" T = 2736/ S = 13003 T = 206.25° s = 7507’ T = 266.59 ST = 6668 T = 10213 S = 6668

| R = 3670.00 R = 115000 R = 205.00 R = 229183

| e = 006 ° : O.%65 y e = 004 e = 006

; D.S.= 70.00 Mph S. = ph D.S.= 25 Mph D.S.= 6000 Mph

| Runoff = 390.00" Runoff = 200.00" Runoff = 68.00° RUPGFF = 20000

1 -Y5- -Y6- -Y6- ~RPDY4- ~RPCY8-

| PJ.= 1444556 Pl.= 1447375 Pl.= 21+49.25 Pls Sta 14+64.53 Pl Sta [7+17.33 Pls Sta 19+33.02 Pis Sta 10+05.5 PI St 13+33.32 Pls Sta 1547188

| L = 819 441 (RT) 4 = 817005 (LT) A = 2r 55 7.5 LT ©s = 802202 A= 5745 269" (RT) os = 802202 ©s = 10°00° 099" A= 77721 588" (LT) Os = 10°00 099"

| D = 543465 D = 310592 D = 609 390 Ls = 110.00° D = |4 36" 586" Ls = 110.00° Ls = 125.00" D = 1600 159" Ls = 125.00"

1 T =728/ T = 13034 I = 18011 = 734 L = 395./6 = 734r LT = 8347 [ = 4834/ LT = 834r

‘ L = 145.37° L = 26023 L = 35582 ST = 36.74 I = 216.2r S = 3674 ST = 479 T = 28664 ST = 479

| R = 1,000.00" R = 1800.00" R = 93000 R = 39200 R = 35800’

| e = 004 e = 003 e = 004 e = 0.04 e = 004

| D.S.= 50 Mph D.S.= 50 Mph D.S.= 50 Mph DS.= 30 Mph DS.= 2500 Mph

| Runoff = 96.00" RUNOFF = 8100’ Runoff = 96.00° Runoff = 77.00° Runoff = 12500°

—YBA- Y7 A- —Y7A- ~RPAY8~ ~RPDY 8~ -SPDY8~

1 .= 1243134 .= 1048791 .= 1249001 Pls Sta_+33.35 PI Sta 2+7540 Pls Sta_4+7.42 Pls Sta_+33.35 Pl Sta 3+02.30 Pls Sta_4+7115 Pl = 2+56.66

| L = 3r4r 266 (LT) o = 6044 43/ (LT) o = 9103 066" (LT) os = 230 000" A= 346 066" (RT) os = 2 30000 os = 2" 30° 000" A= 506 422 (LT) os = 2 30'00.0" A= 85 35 57.9'(LT)
‘ D = 10708 27.0 D = 381499 D = I14 35 296 Ls = 200.00" D = 2 30 000" = 20000’ Ls = 20000’ D = 230 000" Ls = 200.00’ D = 2422 523"

; T = 19284 T = 879 T = 5093 = 13335 L = 15074 = /3335 = /33.35" L = 20447 = /3335 L = 35,09

1 L = 37167 L = /5903 L = 7946 sr = 6668 T = 7540 ST = 6668 sr = 6668 T = 10230 s = 6668’ T = 2176l

| R = 56500° R = 150.00" R = 5000 R = 22983 R = 22983 R = 23500

| e = 0.04 e = 004 e = 006 e = 006 e = 004

; D.S. = 40 Mph D.S.= 20 Mph D.S.= 60.00 Mph D.S.= 60.00 Mph D.S.= 25 Mph

| Runoff = 84.00° Runoff = 64.00° RuPoFf = 200.00° Runoff = 200.00" Runoff = 68.00

; yg- _yg- ~RPAY8- ~RPDY8-

| Pl.= 2247367 Pl.= 2645560 Pls Stg_10+49.03 Pl Sta I4+/7.82 Pls Stq_16+40.02 Pls Stg _lI+06.05 PI Sta I3+846I Pls Stq _16+04.99

1 A = 12 34 440" (RT) A = 957" 528 (LT) 0s = 94 46.4" A= 9ri5 395" (LT) Os = 94 46.4" Os = 949 197" A= 68 34 57.3'(RT) Os = 949 197"

| D = 349110 D =21 306 Ls = 1/0.00" D = [7"37" 46." Ls = //0.00’ Ls = 120.00" D = 1622 128" Ls = /120.00’

‘ L = 3293/ T = 20794 = 7344 L = 5766 = 7344 = 8012 L = 4895 = 802

1 T = 165.32 L = 43479 sr = 3677 T = 33223 ST = 3677 sr = 40Jr T = 23868 s = 401

| R = 150000 R = 250000 R = 32500 R = 35000’

‘ e = 0.04 e = 003 e = 0.04 e = 004

| D.S.= 50 Mph D.S.= 50 Mph D.S.= 2500 Mph D.S.= 2500 Mph

| Runoff = (7400 Runoff = [05.00° Runoff = 110.00° Runoff = 120.00°

~RPBY 8~ ~SPBY8-

: —PED- ~PED- Pls Sta 1+33.35 Pl Sta 2+64.82 Pls Sta 3+96.27 Pl Sta 2+88.03

; Pl Sta 1176369 PISta I8+34.5] ©s = 300 00.0" A= 353 57"(LT) 95 = 3°00' 000" A= 8227 106" (LT)

‘ A = 3333 23.3'(RT) A = 2255 23.7"(RT) Ls = 20000 D = 300 000" = 20000 D = 20°50' 054"

| D = 2ri3 144" D = 4550 118" LT = I33.35 L = 12959 = /3335 L = 39575

- L = /5843 L = 500/ ST = 6668 T = 6482 ST = 6668 T = 24097

‘ T = 814/ T = 2534 R = 1909.86° R = 27500

| ) R = 27000 R = 12500 e = 008 e = 004

| ks D.S.= 60.00 Mph DS.= 25 Mph

‘ N Runoff = 200,00 Runoff = 68.00°

1 S -RPBY8-

‘ 4 Pls Sta 10+33.87 PI Sta 13+23.49 Pls Sta |5+25.55

| N Os = 040’ 56.2" A= 85 158" (RT) 95 = 10°40" 56.2"

| = Ls = 110.00’ D = [9 25 20.3" = 110.00°

| 2 = 7347 L = 4/8.36' = 7347

| N ST = 3679 T = 25309 ST = 3679

| Q R = 29500

: 77/3 . e = 004

1 g

1 o %
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